ey () 4 AN (TR10f150)

o

w4 H491:
10.656 x 100 = 8.09 x 100000 =
9.22 x 1000000 = 5.628 x 10 =
5.45 x 10000 = 1.749 x 100 =
4.848 x 100000 = 7.199 x 100 =
5.953 x 100000 = 9.893 x 100 =
8.156 x 1000 = 4.7722 x 1000000 =
8.698 x 10000 = 2.271 x 100000 =
2.289 x 10000 = 5.15 x 100 =
10.156 x 1000 = 8.509 x 100000 =
3.264 x 1000 = 2.102 x 100000 =
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NEERTL (R 1015 %)

4 H391: i O
10.656 x 100 = 1065.6 8.09 x 100000 = 809000
9.22 x 1000000 = 9220000 5.628 x 10 = 56.28
5.45 x 10000 = 54500 1.749 x 100 = 174.9
4.848 % 100000 = 484800 7.199 x 100 = 719.9
5.953 x 100000 = 595300 9.893 x 100 = 989.3
8.156 x 1000 = 8156 4.722 x 1000000 = 4722000
8.698 x 10000 = 86980 2.271 x 100000 = 227100
2.289 x 10000 = 22890 5.15x 100 = 515
10.156 x 1000 = 10156 8.509 x 100000 = 850900
3.264 x 1000 = 3264 2.102 x 100000 = 210200
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